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State the coordinates of each point.
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Answers to Assignment (ID: 1)

1) K(10,12)  3(2,19) 1(~13,-7) 2) M(-18,-9) L(2,-10)  K(-20,6)
H(-12,15) G(-12,-18) F(-1,11) J(4,-15) 1(1, 8) H(-3, 16)
E(-13,16) D(14,-20)  c(-5,10) G(-5,18)  F(-11,-6) E(12,12)
B(2, -15) D(18, -12)

3) C(-5,-18) D(-4, 12) E(-15, 4) 4) E(6, -9) F(-7,1)  &(12,-11)
F(7,-14)  G(-20,-15) H(8,17) H(-10,-6) 1(-9,-2) J(13, 10)
1(-20,16)  J(-6,-20)  K(-8,-9) K(-11,-20) L(3,11)  M(-4,-3)
L(-15, —20) N(19, 18)

5) J(-16,16) 1(-4,-14)  H(-8,-17) 6) M(6,-19) L(4,20)  K(-4,-8)
G(-6,14) F(-4,0) E(-16, —18) J(0, 5) 1(-8,-11) H(6, —4)
D(10,6)  C(-14,-17) B(-7,-5) G(-7,4)  F(-9,-4) E(-9,—20)
A0, —6) D(7, 3)

7) M(-20,-18) L(-6,4)  K(-3,-11) 8) D(-7,-4)  E(-12,19) F(13,12)
J(10, -10) 1(11,-7)  H(-15, 10) G(9, 1) H(6,—4)  1(-11,9)
G(9, 10) F(17,12) E(4,3 J(-13,9)  K(16,-6) L(4,8)

D(-3, 1) M(-11, 15)

9) J(5, 8) 1(-3,-4) H(-12, 16) 10) M(-4,1) L(11,-20) K(-12,13)
G(7,13)  F(3,-20) E(7,19) J(-2,12)  1(13,-14) H(-7,9)
D(-8,-2) C(9,-1)  B(13,-19) G(20,-1)  F(o, 8) E(-12, -13)
A(15, -3) D(18, 13)

11) E(0, 11) F(-19,-4) 6(12,11) 12) K(-17,-19) J(-2,-11)  1(~15,20)
H(8, 9) 1(11, 3) J(-11, 14) H(18, 20) G(-18,-13)  F(-10,-15)
K(-6,-18) L(-18,-14) M(20, 13) E(-19,-17) D(-19,-8)  C(-15,-15)
N(20, 9) B(20, -3)

13) c(-1,5)  D(-7,-8)  E(-10, 14) 14) D(20,-8)  E(14,5) F(-19, -14)
F(4,15)  G(-12,15) H(-17,0) G(-13,-1)  H(-20,-5) 1(-3,18)
1(-12,-5) J(6,6) K(17,-1) J(17,-12)  K(-12,19) L(3,19)
L(-12, 11) M(9, 2)

15) M(5,20)  L(6,-18) K(-11,-12) 16) J(16,-13)  1(-3,15) H(2,-8)
J(-17,11) 1(20,8)  H(13,-10) G(-4,-11) F(3,17) E(13,-6)
G(5,14)  F(-154) E(-17,20) D(17,19)  c(5,-2) B(14,-20)
D(18, 5) A1, -16

17) B(2, 4) c(20,-4) D(8,-10) 18) D(9,-1)  E(-2,12) F(3, 18)
E(-14,-9) F(6,-14) 6(1,-7) G(-8,18) H(-10,-14) 1(=20,5)
H(9,-1)  1(-10,12) J(-13,17) J(-6,8)  K(=20,2) L(4,-19)
K(5, 6) M (20, 14)

19) c(16,-12)  D(0,-18) E(-18,9) 20) E(9, 15) F(2,-15)  6(10,6)
F(5, 6) G(-4,-7) H(13,17) H(-12,-20) 1(-16,-7)  J(16,1)
1(16, 16) (1, 3) K(12,-12) K(-15,16)  L(-10,-10) M(-12,11)
L(-13, -10) N(1, -6)

21) A(5, 1) B(-17,-4) c(-17,-9) 22) A(-1,9) B(-13,16) C(2,19)
D(0, -3) E(-2,18)  F(0,-8) D(18, -2) E(-7,15)  F(2,7)
G(-7,-1)  H(18,9)  1(-6,14) G(-14,-10)  H(0, 4) 1(16, 5)
J(-12,-11) J(-10, 11)

PG _
2 gegsgs pabh-gsersheeh.org
math-worksheet.org



23) C(8,-14) D(13,-16) E(8,17) 24) B(2,-16) C(-5,0) D(-8, —18)
F(7,-5)  G(10,-7)  H(7,-8) E(-17,4) F(11,-8)  G(-20,-16)
1(-12,4)  J(-17,10) K(-12,-1) H(5,-5)  1(-17,-13) J(11,-10)
L(-2, 16) K(-2, 18)
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ID: 2
Name

Assignment Date Period

State the coordinates of each point.
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Answers to Assignment (ID: 2)

1) A(-1,20) B(-16,13) C(-11,2)
D(20,-1) E(0, 4) F(14, 11)
G(13,13) H(6,-12)  1(20,-20)
J(2, 16)

3) B(16,20)  C(-15,-7) D(14,8)
E(3, 15) F(-9, 6) G(-10, -18)

H(-7,16)  1(-19,-5) J(-5,7)
K(17, —20)

5) B(-11,-12) C(-20,-14) D(-8,5
E(2, 11) F(-15-10) G(-3,-7)
H(-5,-17)  1(-4, 12) J(10, 0)
K(18, 15)

7) N(-19,5) M(14,-9) L(-4,-7)
K(2,17)  3(13,19)  1(0,-17)
H(-8,16) G(-58  F(-20,13)
E(-14, 15)

9) M(-16,-14) L(7,0) K(-6,-2)
J(8, 12) 1(12,-1)  H(-15,-3)
G(5, -1) F(-11,17) E(2,1)
D(-7,2)

11) M(13,4)  L(-2,-14) K(-14, 16)
J(=19,-2) 1(3,5) H(-14, -9)
G(20,14) F(16,-9)  E(0,-3)
D(11, 20)

13) M(20,-17) L(-6,9)  K(-15,7)
3(9, -4) 1(-17,12) H(2,-14)
G(-2,-19) F(14,9)  E(9,5)
D(11, -14)

15) M(16,2)  L(-13,-11) K(1,15)
J(-9,12)  1(-20,-17) H(-19,-19)
G(-10,18) F(-5,7) E(-17, 18)
D(8, 20)

17) M(-1,9) L(-8,4)  K(-14,-2)
J0,-4)  1(19,3)  H(-6,-10)

G(10,2)  F(-3,16) E(0,-2)
(-10, 7)
(19,20) F(6,-7)  G(-13,11)
(5,100  1(-14,17) 3(-13,1)
M(-17, 12)

19)

N
[T
~

-10) E(-13,13)
-7,2)  H(2,-1)
1(8,-19)  J(10, 0) K(8,9)

g
) gensvsnabh-wersheel oryg

2) K(6, 18) J(16,17)  1(13,0)

H(-17,-13) G(14,17) F(9, 18)
E(18,-13)  D(2,-3) c(12,-17)
(16, -4)

4) B(3,2) c(9,-10)  D(-18,8)
(15,-9)  F(-6,-18) G(-19, 14)
(17,9) 1(15,20)  J(-3,-12)
(~16, —6)

6) N(17,9) M(12,9) L(17,2)

J(-12,6) 1(11,-17)
-10,-15) G(3,7)  F(1,-14)

(0°)
=~

F(-2,1) G(-7,1)

|
—_ J
- p -
[\
~

Z 2T MMmMmIX"ZXAXIMmwWw
~
©

(-4,-16)  1(13,-15) (6, 10)
(-18,0) L(-6,-10) M(14, -4)
(-14,-17)

10) A(-15,-16) B(16,3) (2, 20)
D(20, 9) E(0,-11) F(4,-8)
G(-7,12)  H(9,-4) 1(19,11)
J(-13,2)

12) K(10,0) J(13,-12)  1(18, 10)

H(-20,-17) G(-19,6)  F(16,1)

E(-14,15)  D(-18,-9) C(-13,-18)
B(19, —6)

14) B(7,-16)  C(5,11)  D(-14, 19)
E(12,-13)  F(11,12) G(-11,-3)
H(17,-12) 1(-5,15) J(-19, -5)
K(-14, -8)

16) E(-5,-17)  F(-16,11)  G(19,2)
H(-11,-19) 1(4, 8) J(11, )
K(-16, 4) L(-16,-10) M(4,5)
N(-12, -15)

18) J(-5,-18) 1(4, 5) H(-16, -6)
G(-9,20) F(-9,6) E(12, 6)
D(13,11)  C(-12,-8) B(20, 4)
A18, -14)

20) C(8,14)  D(-10,-14) E(-13,9)
F(13,20) G(-6, 5) H(-15, -18)
1(-14,19) J(-14,-20) K(-14,-1)
L(2, 6)

22) A(10, 4) B(-20, 9) c(20, -18)
D(-4,18)  E(-16,-11) F(-6,-17)
G(17,-5)  H(-10,-5) 1(-16,13)
J(~15,-11
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23) B(6, 1) c(12,4)  D(-7,-19) 24) K(11,-2) 3(2,-9) 1(-9,-12)
E(-12,-1) F(-6,-2) G(-10,-11) H(9,-17) G(18,2) F(-4,-19)
H(-20,-7) 1(-20,12) J(-11,-1) E(-15,17) D(7,0) c(-2,3)
K(2,-12) B(-2, -18
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ID: 3

Assignment Date

Period

State the coordinates of each point.
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23) B(12, 3) c(-19,-12) D(20,-16) 24) E(-8,-9) F(19,-10) G(-16, 19)
E(—15,—7) F(11,-7) G(-3, -18) H(3,-8) 1(19,-18) J(-13,-2)
H(-8,-13) 1(-17,-15) J(18,-5) K(0,-15) L(-16,15) M(-10, 11)
K(-13, 6) N(3, -16)
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ID: 4
Name

Assignment Date Period

State the coordinates of each point.
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23) B(17,14)  C(8,3) D(-2, 13) 24) B(-18,-2) C(-8,-16) D(7,-19)
E(11,-11) F(16,19) G(-15,-14) E(3, -7) F(-5,-16) G(-2,-18)
H(0,-15)  1(20,20) J(3, 15) H(-10,7)  1(-8,3) J(-12, 19)
K(10, -17) K(18,-19)
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ID: 5
Name

Assignment Date Period

State the coordinates of each point.
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Answers to Assignment (ID: 5)

1) D(8,-5)  E(-7,1 ) F(-7, 15) 2) B(20,-18)  C(-15,7) D(16, -11)
G(15,13)  H(-8,-16) 1(14,-10) E(-6, 6) F(-16,-10) G(2,20)
J(2,-10)  K(-6,-14) L(-14,-6) H(-20,-12) 1(4,-15) J(-18, -8)
M(18, -5) K(-14, 19)

3) c(-15,-1) D(16,-3)  E(6,-12) 4) N(10,-16) M(-4,-15) L(17,14)
F(-5,-14) G(-13,19) H(-3,-6) K(10,16)  J(9, 20) 1(~4, 16)
1(~7,0) J(10,-15)  K(10, 18) H(17, 8) G(-2,-5)  F(7,1)

L(4, 5) E(12, 15)

5) A(20,0)  B(-19,15) (12, 5) 6) B(-19,-5) C(2,-17) D(15,11)
D(-1,1)  E(-10,4) F(-4,18) E(14,-7)  F(2,17)  G(13,-6)
G(16,15) H(-13,2) 1(0,-16) H(-9,-12) 1(-9,10) J(9,-12)
J(1, -6) K(15,-7)

7) L(-13,-18) K(12,13)  J3(11,3) 8) N(9, 15) M(-8,6) L(-1,8)

1(-8, —6) H(7,9) G(-8, —14) K(16,14)  J3(5,-8)  1(-13,-7)
F(19,9) E(-19,-9) D(-8,—20) H(19,-10) G(-2,5) F(-9,15)
C(-19,-17) E(-2, 10)

9) N(15, 3) M(7,-8)  L(-13,-18) 10) B(-14,-20) C(-12,6) D(12,-9)
K(12,-17) J(-17,13) 1(0,3) E(-1,-11)  F(12,15) G(6,7)
H(-19,4) G(4,-14) F(-4,-5) H(-1,-14) 1(13,-12) J3(13,-14)
E(7, -20) K(20, 11)

11) A(8,-9)  B(-4,0) c(16,-15) 12) N(-4,20)  M(-13,-17) L(-1,-19)
D(-9,-9) E(18,16) F(-20,2) K(-7,-20) J(-20,-9)  1(3,-8)
G(-19,8) H(4,-6) 1(9,-2) H(8, 10) G(11,-11)  F(-1,-16)
J(-6,-11) E(9, -2)

13) A(19,19)  B(0,-17) (7, 4) 14) A(-20,20)  B(15,1) c(-11, 8)
D(-9,-17) E(-20,18) F(-16,3) D(-18, 6) E(-19,-14) F(-18,0)
G(11,-13)  H(15,-19) 1(-3,-8) G(-12,-11) H(-3,-6)  1(-17,4)
J(-13, 12) J(-3, 16)

15) N(10,-8)  M(-2,8) L(12, -11) 16) A(-5,-13) B(-18,-14) (16, 8)
K(-16,14)  J(-17,-16) 1(14, 10) D(10,-2)  E( ) F(-3, 10)
H(0, —6) G(6,-10)  F(-8,19) G(11,-4)  H(7,19)  1(17,0)
E(-10, —20) J(14, 18)

17) D(-18,16)  E(14,1) F(9, 4) 18) C(4,-17) D(-7,1) E(-18,7)
G(12, 19) H(-5,-11) 1(11,0) F(-2,5)  G(-7,-10) H(-7,0)
J(6, -2) K(-17,14) L(-1,-14) 1(0, 9) J(=20,13)  K(11,3)
M(-13, -15) L(-20, 14)

19) D(-13,18) E(-20,-16) F(-11,1) 20) B(-19,-6) cC(-15,-14) D(16, 1)
G(11, 8) H(4, -12) 1(-2,7) E(-4,-14) F(20,4) G(13, -10)
J(20,12)  K(-18,-15) L(2,-16) H(8,15)  1(-16,-18) J(-12,-6)
M(8, -1) K (-9, 9)

21) B(18, 4) c(-15,-19) D(-12,-4) 22) (19, 12) D(-1,-13)  E(10, 19)
E(7, 13) F(4, 10) G(10, 15) F(-10,-15) G(10,-12) H(-13,9)
H(-11,3)  1(16, 11) J(-17,5) 1(—4,-14)  J(6,-2) K(-2, -4)
K(-18, -9) L(7, -18)
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23) B(-16,-6) C(11,-19) D(-s6, 18) 24) E(-10,1)  F(-7,15)  G(-8,5)
E(20, 2) F(-12,16) G(-10,-17) H(13, 4) 1(1, 1) J(-9, -12)
H(-12,18) 1(9,-12)  J(8, 11) K(13,-7)  L(-11,-18) M(~19,-10)
K(8, 5) N(-11,-1)
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ID: 6
Name

Assignment Date Period

State the coordinates of each point.

1)

D

i o0 O D

7 gegeus matih-wiorksheeh ory
9 math-worksheet.org



18

math-worksheet.org

16

14

12

Ny

o
17
1O
>
T4
12
>
19
T
11
=TT
19
=14
=1
=10
17
=17

-2

i

-

-8

2)

Y gegsgsnabh-wsershee b oryg




18

math-worksheet.org

16

14

12

AY

3)

9
TS
16
>
T4
T

0

=D
=4
=)
=0
=9
=9
T

195
=13
=14
=1y
=10
=17
=Te

-2

T

—

—

Y gegsgsnabh-wsershee b oryg




Ny

18

16

14

12

4)

o
17
1O
>
T4
12
>
19
T

F

o

o

N

11
=TT
19
=14
=1
=10
17
=17
20

v/

-2

i

-

-8

Y gegsgsnabh-wsershee b oryg

math-worksheet.org



18

16

14

12

AY

5)

9
TS
16
>
T4
T

0

=D
=4
=)
=0
=9
=9
T

195
=13
=14
=1y
=10
=17
=Te

-2

T

—

—

Y gegsgsnabh-wsershee b oryg

math-worksheet.org



18

16

14

12

AY

6)

9
TS
16
>
T4
T

0

=D

=)

=0

=9

T

195

=13

=1y

17
=17

=10

=Te

-2

T

—

—

Y gegsgsnabh-wsershee b oryg

math-worksheet.org



18

16

i

12

AY

0
TS
16
>
T4
>
T
=D
=4
=)
=0
=9
=9
11
=TT
195
=14
=1y
=10
17
=17

-2

T

—

—

—4

7)

math-worksheet.org

Y gegsgs nath-werlsheet.ory




18

16

14

12

Ny

o
17
1O
>
T4
12
>
19
T

11
=TT
19
=14
=10
17
=17
20
v/

-2

i

-

-8

8)

math-worksheet.org

Y gegsgsnabh-wsershee b oryg




18

16

14

12

AY

9)

9
TS
16
>
T4
19
T

0

=D

=)

=0

=9

T

195

=13

=14

=1y

17
=17

=10

=Te

-2

T

—

—

Y gegsgsnabh-wsershee b oryg

math-worksheet.org



18

16

math-worksheet.org

14

12

AY

10)

20\
0
TS
16
>
T4
12
>

T

14
= 1T
15
=14
=15
=10
19
=17

-2

T

—

—

Y gegsgs nath-werlsheet.ory




18

16

14

12

AY

11)

20\
0
TS
16
>
T4
12
>

T

14
= 1T
15
=14
=15
=10
19
=17

-2

FIH

T

—

—

Y gegsgs nath-werlsheet.ory

math-worksheet.org



16

14

12

AY

12)

20\
0
TS
16
>
T4
12
>

T

14
= 1T
15
=14
=15
=10
19
=17

-2

T

—

—

Y gegsgs nath-werlsheet.ory

math-worksheet.org



Ny

18

16

14

12

4

13)

o
17
1O
>
T4
>
19
U

T

=2

T

19
=14
=1
=10
17
=17
20
v/

-2

i

-

-8

Y gegsgsnabh-wsershee b oryg

math-worksheet.org



18

16

math-worksheet.org

14

12

AY

14)

20\
0
TS
16
>
T4
12
>

T

11
=TT
195

=14
=15
=10

19
=17

-2

T

—

—

Y gegsgs nath-werlsheet.ory




18

16

math-worksheet.org

14

12

AY

15)

20\
0
TS
16
>
T4
12
>

T

11
=TT
195

=1y
=10

17
=17

-2

T

—

—

Y gegsgs nath-werlsheet.ory




18

16

14

12

AY

16)

20\
0
TS
16
>
T4
12
>

T

14
= 1T
15
=14
=15
=10
19
=17

-2

T

—

—

Y gegsgs nath-werlsheet.ory

math-worksheet.org



18

16

14

12

AY

17)

20\
0
TS
16
>
T4
12
>

T

T

195

=1y
=10
17

=17

-2

T

—

—

Y gegsgs nath-werlsheet.ory

math-worksheet.org



18

16

14

12

AY

18)

20\
0
TS
16
>
T4
12
>

T

14
= 1T
15
=14
=15
=10
19
=17

-2

T

—

—

Y gegsgs nath-werlsheet.ory

math-worksheet.org



18

16

14

12

AY

19)

20\
0
TS
16
>
T4
12
>

T

14
= 1T
15
=14
=15
=10
19
=17

-2

T

—

—

Y gegsgs nath-werlsheet.ory

math-worksheet.org



18

16

math-worksheet.org

14

12

AY

20)

20\
0
TS
16
>
T4
12
>

T

14
= 1T
15
=14
=15
=10
19
=17

-2

T

—

—

Y gegsgs nath-werlsheet.ory




18

16

math-worksheet.org

14

12

AY

21)

20\
0
TS
16
>
T4
12
>

T

14
= 1T
15
=14
=15
=10
19
=17

-2

T

—

—

Y gegsgs nath-werlsheet.ory




18

16

14

12

AY

22)

20\
0
TS
16
>
T4
12
>
19
T

14
= 1T
15
=14
=15
=10
19
=17

-2

T

—

—

Y gegsgs nath-werlsheet.ory

math-worksheet.org



18

16

math-worksheet.org

14

12

AY

23)

20\
0
TS
16
>
T4
12
>

T

14
= 1T
15
=14
=15
=10
19
=17

-2

T

—

—

Y gegsgs nath-werlsheet.ory




18

16

14

12

AY

24)

20\
0
TS
16
>
T4
12
>

T

14
= 1T
15
=14
=15
=10
19
=17

-2

T

—

—

Y gegsgs nath-werlsheet.ory

math-worksheet.org



Answers to Assignment (ID: 6)

1) D(2, 8) E(4, 14) F(19, -5) 2) B(6,3)  C(-19,11) D(-20, 18)
G(-2,-13) H(13,1) 1(-5, -8) E(-1,3) F(2,-13) G(-16,-20)
J(-=7,-5)  K(20,-16) L(-13,8) H(3,-7) 1(-9,17)  J(-16,-18)

M (-4, 16) K(20, 6)

3) L(6, 8) K(-6, 5) J(10, 1) 4y E(10,12)  F(-13,2) G(18,7)

1(8,-17) H(-16,-14) G(-6, 8) H(-20,17) 1(-15,18) J(-12,-7)
F(-15,5) E(19,-18)  D(s, 7) K(1, 13) L(-2,-16) M(-6,-13)
c(18, 10) N(-11, 15)

5) c(16,11)  D(-13,-6) E(-20, -8) 6) B(14,-13) C(3,-20) D8, 8)
F(-10,18) G(-9,-3)  H(8, 19) E(1, 5) F(-1,13) G(-4,-7)
1(1, 13) J(11,19)  K(16,-5) H(3, -8) 1(8,15)  J(5,-12)

L(2, -16) K(-8,-15)

7) E(-11,8)  F(-5,19)  G(-16,1) 8) B(-8, 12) c(-20,-10) D(20, 15)
H(—3,9) 1(-13,-14) J(-11,-9) E(-14,-10) F(0,-15) G(11, 16)
K(-16,12) L(-17,-9)  M(-18,-11) H(-16,-7) 1(-9,7 J(6, 18)
N(0, —7) K(-3, -2)

9) E(-12,-8) F(11,5) G(4,12) 10) A(-15,0)  B(1,-16)  C(8,-4)
H(-12,10) 1(3,1)  J(-16,6) D(8, 3) E(-15,12) F(11,4)
K(11,-5) L(-2,2) M(-4,-6) G(-4,-13) H(-8,-3) 1(18,-18)
N(20, 15) J(19, -8)

11) B(-12,17) C(8,2) D(-1, -13) 12) A(12, 4) B(1,19) (9, -8)
E(17,-1)  F(-4,6) G(7,7) D(-19,-5) E(-8,9) F(-20,-8)
H(-3,6)  1(-20,14) J(-8,19) G(1,7) H(18 0) 15, 19)

K(10, -6) J(20, 9)

13) A(-12,8)  B(15,38) c(-20, -3) 14) N(16,-13) M(6,-9)  L(4,-6)
D(5,-12)  E(15,-17) F(18, 16) K(7,17) J(18,-1)  1(1,15)
G(14,-19) H(4,-9)  1(14, 19) H(9,-17)  G(20,-14) F(-4,5)
J(16, -15) E(-10, 3)

15) B(5,—20)  C(-15,15) D(-19,-5) 16) C(19,-12)  D(-19,-13) E(19,-15)
E(-9,-14) F(20,18)  G(-5, 14) F(-17,-10) G(-3,-6)  H(-9,-4)
H(19,11)  1(-10,-2) J(-15,-2) 1(3, 17) 3(9, 17) K(-12,-12)
K(6, -17) L(14, -5)

17) c(15,10)  D(s, 6) E(6, —20) 18) A(15, 4) B(1, -6) c(-11,12)
F(-7,-14) G(-1,12) H(12,18) D(-18,-6) E(-11,-19) F(-6,-17)
1(3, 10) J(5,-9)  K(4, 12) G(13,1) H(17,16)  1(13,-11)
L(-17, 18) J(-14, -18)

19) D(3, -8) E(-8,9)  F(14,8) 20) K(—9,—1) J(4,-18) 1(4,-2)
G(-16,15) H(-8,-2) (8, 14) H(14,-14) G(13,-5) F(14,-18)
J(-1,3) K(-8,11) L(-5,15) E(6, -15) D(1,-1)  C(8,-14)
M(10, -10) B(-19, -16)

21) E(14, 15) F(-19,1) G(-3,-17) 22) M(2,-8)  L(2,-11) K(-2,0)
H(-2,-11)  1(5,3) J(-20, 16) J(-19,-1) 1(s, 11) H(-11,-11)
K(16, 1) L(8,—13) M(8,-15) G(14,-2)  F(-7,9) E(2,1)
N(~18, —20) D(17, -12)
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23) A(-11,14)  B(-3,5) (13, 6) 24) c(-2,-12) D(18,-5) E(15,-10)
D(5, -1) E(-7, 1) F(18, 19) F(3,-19)  G(7,-4)  H(16,-19)
G(-4, 7) H(14,-18) 1(-7,-10) 1I(-12,-9)  J(5,-5) K(3,-15)
J(-11,-18) L(-20, -13)
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Answers to Assignment (ID: 7)

1) A5, 2) B(10,12)  c(-2,12) 2) B(16,-10) C(13,-13)  D(13, 11)
D(-17,-7) E(13,-10) F(-15,12) E(10, 4) F(-12,-15) G(8,-2)
G(3, —4) H(-12,-2) 1(-18, 12) H(-14,13) 1(-9,7) J(12, 10)
J(12, 18) K(-3,-3)

3) E(15,10) F(12,-9) &(11, 16) 4) E(8,-19) F(-1,-1)  G(-13,20)
H(3,18) 1(1,17)  J(6,-5) H(-9,20) 1(8,9) J(16, -8)
K(-20,6) L(15,-5) M(-10,-2) K(1,11)  L(-2,-20) M(15,-16)
N(6, 1) N(15, -2)

5) K(-15,-16) J(13,13) 1(-17,5 6) B(4, -3) c(s, 1) D(-18, 9)
H(-20,20) G(-18,4) F(-8,-10) E(-15,20) F(6,—20) G(14,-19)
E(-13,20) D(18,20) ¢C(3,-13) H(-6,15)  1(~7,13) J(-18,-8)
B(-1, 16) K(-3,-17)

7) B(-8,-3)  C(-6,17) D(18, 16) 8) C(-8,-3) D(-16,-12) E(-12,-5)
E(11,-5)  F(9,-9) G(-6,3) F(-12,11) (9, -17) H(1, 10)
H(4, -5 1(-15,17) J(18,-2) 1(16,-1)  J(=3,1) K(0, -17)
K(-8, —20) L(20, -14)

9) L(-3,-3) K(-6,-14) JI(-15,-1) 10) K(12,-20) J(-1,-11) 1(~16,-13)
1(-10,-4) H(-17,-1) G(20, 12) H(-1,-14) G(-3,2)  F(17,-2)
F(-5,-5) E(7,0) D(-11, -9) E(-9, 3) D(11,-3) (19, 3)
C(8, 4) B(2,0

11) E(9,9) F(-11,13)  G(9,-17) 12) A(-4,-4) B(-20,-20) c(-5,-8)
H(1, 7) 1(0, 18) J(-18, -12) D(-7,3)  E(19,3) F(12, -4)
K(12,10)  L(7,-2) M (-7, -17) G(-7,-2) H(10,14)  1(-12,15)
N(~7, —20) J(9, 17)

13) A(-15,17) B(14,16)  C(6,9) 14) ¢(3,-7)  D(10, 5) E(16, 4)
D(19, 9 E(-16,14) F(-11,-12) F(9,-16) G(-7,8) H(-20, -16)
G(-3,-5) H(-9,6)  1(13,18) 1(-3,-17)  J(-12,-19) K(15,-18)
J(17,1) L(16, 17)

15) J(8,-15)  1(-7,16) H(-7,1) 16) D(-5,5) E(16,-1)  F(18,-2)
G(18,-16) F(12,0)  E(16,-2) G(20,13) H(15,17)  1(-11,-13)
D(7,-14)  c(13,19) B(10, 8) J(2,-12)  K(20,-18) L(-8,-6)
A(-11,-9) M(13, 8

17) B(7, 13) c(2, -6) D(-19, -7) 18) N(-18,-14) M(8,-8)  L(17,-20)
E(18,-8)  F(13,-14) G(-12,0) K(2, -14) J(13,-17)  1(6,2)
H(-14,18) 1(-17,20) J(-14,-15) H(-7, 5) G(-6,10)  F(17,-19)
K(18, —6) E(11,-16)

19) D(-12,20)  E(10,-13) F(-6,2) 20) A(-7,-6) B(-17,20) C(-9,-6)
G(-17,-17)  H(9,7) 1(10, 4) D(-1,-5) E(6,-14)  F(15,-17)
J(10, 8) K(-13,-8) L(-7,11) G(3, 5) H(18,-15) 1(-13, 10)
M(16, 3) J(11, 8)

21) A(-1,19)  B(17,1) c(0, 3) 22) D(-18,1) E(11,17)  F(19, —20)
D(-10,-1) E(-14,-8) F(19,20) G(-3,11)  H(-11,15) 1(6, -4)
G(2,-14)  H(-19,8) 1(13,-18) J(-9,17)  K(-8,-2) L(0,-5)
J(20, 6) M (-9, —4)
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23) C(14,-8)  D(-20,-14) E(6, 1) 24) A(-4,-6)  B(1,-17) C(9,11)
F(-15,-5) G(-10,3) H(-3, 13) D(-19,12) E(15,-2) F(-8,17)
1(8, 16) J(-10, 5) K (20, -11) G(-8,8)  H(-7,-9) 1(-2,-5)

L(~7, -10) J(-12,4)
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State the coordinates of each point.

1)

D

i o0 O D

7 gegeus matih-wiorksheeh ory
9 math-worksheet.org



18

16

14

12

AY

2)

9
TS
16
>
T4
T

0

=D

=)

=0

=9

T

195

=13

=1y

17
=17

=10

=Te

-2

T

—

—

Y gegsgsnabh-wsershee b oryg

math-worksheet.org



18

math-worksheet.org

16

14

12

AY

3)

9
TS
16
>
T4
T

0

=D
=4
=)
=0
=9
=9
T

195
=13
=14
=1y
=10
=17
=Te

-2

T

—

—

Y gegsgsnabh-wsershee b oryg




18

16

i

12

AY

0
16
>
T4
>
T
=D
=4
=)
=0
=9
=9
11
=TT
195
=14
=1y
=10
17
=17

-2

T

—

—

—4

4)

math-worksheet.org

Y gegsgs nath-werlsheet.ory




18

math-worksheet.org

16

14

12

AY

5)

9
TS
16
>
T4
T

0

=D
=)
=0
=9
=9

T

195
=13
=14
=1y
=10
17
=17
=Te

-2

T

—

—

Y gegsgsnabh-wsershee b oryg




18

16

i

12

AY

6)

20\
0
TS
16
>
T4
>

T

=
=5
=0
=8
=9
14
= 1T
15
=14
=15
=10
19
=17

-2

T

—

—

Y gegsgs nath-werlsheet.ory

math-worksheet.org



18

16

14

12

AY

7)

FE T E T F T iREREEBEEEEEEREEEE XS
!
1 %
°
: 49
o
: 7
= r
:
|
-~
= 4=
g
| 1
- 2
, -
= X m
I .fv_

math-worksheet.org



18

16

14

12

AY

8)

9
TS
16
>
T4
T

0

=D
=4
=)
=0
=9
=9
T

195

=13
=14
=1y
=10

17
=17
=Te

-2

T

—

—

Y gegsgsnabh-wsershee b oryg

math-worksheet.org



18

math-worksheet.org

16

14

12

AY

9
TS
16
>
T4
T

0

=D
=4
=)
=0
=9
=9
195
=13
=14
=1y
=10
=17
=Te

-2

T

—

—

9)

Y gegsgsnabh-wsershee b oryg




AY

10)

20\

_ o
3 2. I S TR 3 T T 9 N ECS e
| (I (I A [
_I_l2
T
¥ (o
| .}
: 9
A Clal
ga
! 2
| :
2 2
|
: S
. g
|
. 2
| 2
. 3

math-worksheet.org



18

16

14

12

AY

20\
0

TS
16
>
T4
12
>
T
T
195
=1y
=10

-2

T

—

—

—4

11)

math-worksheet.org

Y gegsgs nath-werlsheet.ory




18

16

14

12

AY

12)

20\
0
TS
16
>
T4
12
>

T

11
=TT
195
=1y
=10
17
=17

-2

T

—

—

Y gegsgs nath-werlsheet.ory

math-worksheet.org



18

16

math-worksheet.org

14

12

AY

13)

20\
0
TS
16
>
T4
12
>

T

14
= 1T
15
=14
=15
=10
19
=17

-2

T

—

—

Y gegsgs nath-werlsheet.ory




18

16

14

12

AY

14)

20\
0
TS
16
>
T4
12
>

T

14
= 1T
15
=14
=15
=10
19
=17

-2

T

—

—

Y gegsgs nath-werlsheet.ory

math-worksheet.org



AY

18

16

math-worksheet.org

14

12

15)

20\
0
TS
16
>
T4
12
>

T

C!

o

E:

o

14
= 1T
15
=14
=15
=10
19
=17

-2

T

—

—

Y gegsgs nath-werlsheet.ory




18

16

math-worksheet.org

14

12

AY

16)

20\
0
TS
16
>
T4
12
>
19
T

14
= 1T
15
=14
=15
=10
19
=17

-2

T

—

—

Y gegsgs nath-werlsheet.ory




18

16

14

12

AY

17)

20\
0
TS
16
1
%
T4
12
>

T

14
= 1T
15
=14
=15
=10
19
=17

-2

T

—

—

Y gegsgs nath-werlsheet.ory

math-worksheet.org



18

16

14

12

AY

18)

20\
0
TS
16
>
T4
12
>

T

14
= 1T
15
=14
=15
=10
19
=17

-2

T

—

—

Y gegsgs nath-werlsheet.ory

math-worksheet.org



18

16

14

12

AY

19)

20\
0
TS
16
>
T4
12
>

T

14
= 1T
15
=14
=15
=10
19
=17

-2

T

—

—

Y gegsgs nath-werlsheet.ory

math-worksheet.org



18

16

math-worksheet.org

14

12

AY

20)

20\
0
TS
16
>
T4
12
>

T

14
= 1T
15
=14
=15
=10
19
=17

-2

T

—

—

Y gegsgs nath-werlsheet.ory




18

16

math-worksheet.org

14

12

AY

21)

20\
0
TS
16
>
T4
12
>

T

14
= 1T
15
=14
=15
=10
19
=17

-2

T

—

—

Y gegsgs nath-werlsheet.ory




22)

L
>
<3 3 S TR 3 T T T3 T n T 2
| I I | I I (

ot
i (o]
| 5
: 9
A Ll

fa
! 2
| :
2 :
|
4annw
, &
: g
|
. 2
| 2
. 3

math-worksheet.org



18

16

14

12

AY

23)

20\
0
TS
16
>
T4
12
>

T

14
= 1T
15
=14
=15
=10
19
=17

-2

T

—

—

Y gegsgs nath-werlsheet.ory

math-worksheet.org



18

16

14

12

AY

24)

20\
0
TS
16
>
T4
12
>

T

14
= 1T
15
=14
=15
=10
19
=17

-2

T

—

—

Y gegsgs nath-werlsheet.ory

math-worksheet.org



Answers to Assignment (ID: 8)

1) E(20,-19)  F(-2,6) G(-11,4) 2) E(17, 6) F(-10,-13) G(-2, 12)
H(-3, 14) 1(5,2) J(-6,-1) H(-11,18) 1(-6, 8) J(7,-4)
K(-13,-5)  L(20,-2) M(16, 18) K(-14,17) L(-8,-20)  M(1,-19)
N(-12, -13) N(—4, —15)

3) c(18,6)  D(-4,-6) E(-13,-6) 4y B(19, 0) c(-4,-13) D(20,-13)
F(16,18) G(5,13)  H(14,-5) E(11, 5) F(10,-16) G(12,9)
1(-10,-4) J(5,-18) K(0, 6) H(-12,-19) 1(13,18)  J(0, 18)

L(2, -8) K(-1,5

5) B(11,-8)  C(17,-2) D(4,4) 6) D(0,-3)  E(4,—20)  F(-8,-4)
E(-5,-5)  F(5,-17) G(8,-7) G(17,-4) H(7,14) 1(-7, -18)
H(-14,-3) 1(-1,-3) J(-6,-9) J(11,12)  K(18,-10) L(-2,3)

K(0, 6) M (-3, 14)

7) B(5, 1) c(-9,20) D(-12,17) 8) C(-3,10) D(-2,-15) E(-15,3)
E(-6, 16) F(20,12) G(-11,4) F(-14,-8) G(1,-3) H(1, 6)
H(20,-16)  1(-14,7) J(8, 16) 1(13,-12)  3(19, 6) K(~1, -10)
K(~19, —20) L(16, 18)

9) A3, -8) B(14,-18) C(5, 13) 10) A(0,17)  B(7,-5) c(14, —20)
D(-13,-4) E(-7,-18) F(-14,3) D(19,9)  E(-18,-12) F(-1,0)
G(2, 6) H(2,-6)  1(-12,-10) G(1,-13)  H(15,17)  1(-18,-6)
J(-19, -4) J(-10,-7)

11) N(-6,-14) M(-6,5)  L(-6,10) 12) N(-12,-15) M(8,-20) L(-19,-13)
K(13,-9)  J(1,-18)  1(-4,-18) K(14, 3) J(-3,-14) 1(20,2)
H(0,-17)  G(-9,-15) F(-1,17) H(5, 15) G(7,-14)  F(-11,13)
E(-18, 6) E(15,-15)

13) B(-9,-3) c(18,-3) D(-2,-9) 14) B(-10,18)  C(-10,-20) D(18, 12)
E(12,-18) F(-6,10) G(-3,12) E(3, 18) F(17,-9) G(-14, -13)
H(10,13) 1(-1,-9) J(8,-14) H(-11,-15) 1(3, 16) J(13, 11)
K (-9, 8) K(11, 16)

15) E(-1, 4) F(6,-17)  G(16,-9) 16) A(-13,2) B(3,-17) C(-2,14)
H(0, 2) 1(-7,-8)  J(-9,17) D(-10,-20) E(9,9) F(13, 11)
K(-18,-10) L(-20,-2) M(-2,-7) G(8, -9) H(13,16) 1(7,-12)
N(8, 7) J(11, -4)

17) A(7,-15) B(-11,7)  c(0,-6) 18) E(15,17) F(-12,1)  G(6,-7)
D(0,15)  E(5, 10) F(6,-11) H(-10,-19) 1(13,-11) J(5, —20)
G(0,-5)  H(-10,20) 1(-8,9) K(-16,2) L(-4,-13) M(15, 16)
J(11, 17) N(2, —1)

19) D(15,-19) E(-6,-2)  F(-18, 10) 20) A(4,-10) B(3, 16) c(19, -10)
G(-8,10)  H(12,-16) 1(-13, 10) D(16,-4) E(-10,18) F(7,-17)
J(-6, 3) K(20,11)  L(-2, 14) G(10,16) H(-14,2) 1(-2,2)

M (-6, 13) J(1,-8)

21) E(-1,15)  F(-9,7) G(-11,-20) 22) A(1,15)  B(-13,-2) cC(-13,-1)
H(18,7)  1(5 11) J(12, 18) D(7,9) E(20,-16)  F(20, -20)
K(16,-7) L(1,7)  M(16,-17) G(0,-3)  H(-2,-15) 1(-8,15)
N(-9, 10) J(10, -10)

PG _
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23) D(2,18)  E(-11,-16) F(-8,-17) 24) B(16,-20) C(13,-4) D(-10,-1)
G(11,8)  H(-13,-18) 1(3, 10) E(18,9) F(20,-7) G(8,-10)
J(-7,-19)  K(1,-5) L(-3, -16) H(20,11)  1(-12,18) J(-15, 19)
M(5, 1) K(8, —13)
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State the coordinates of each point.
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23) E(-15,6) F(3,-15) G(-5,-12) 24) A(17,9) B(13, 0) C(-19, -16)
H(0,11) 13, 19)  J(-18,4) D(-19,16) E(19,-7)  F(-10,-16)
K(2, 4) L(1,18)  M(-20,-11) G(-7,-3)  H(12,-13) 1(3,-3)
N(0, -12 J(~15, 8)
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State the coordinates of each point.
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Answers to Assignment (ID: 10)

1) D(-19,-5) E(8, -8) F(-3,-4)
G(-17,4)  H(-16,-9) 1(1,-9)
J(-15,-4) K(1,-8) L(-7, 14)
M(-14, 6)

3) A(-18,-13) B(12,-10)  c(0,-3)

D(-18,7)  E(17,-17)  F(0,7)
G(17,-16)  H(-15-13) 1(9,-7)
J(-19, -9)

5) N(13,14)  M(0,-19)  L(-4, 14)

K(-6,1)  J(-12,13)  1(7,-19)
H(20,-12) G(-18,-15) F(-6,-15)
E(3, -10)

7) L(9,-10) K(-7,9) J(=3, 10)
1(2,2) H(-1,-11) G(8,-9)
F(15,15) E(14,17)  D(2,15)

c(e6, -7)

9) E(-11,-20) F(0,6) G(0,-2)
H(-3,7) 1(10,8)  J(-10, -13)
K(2, -8) L(13,3) M(-4,-3)
N(11, 19)

11) E(-9, 16) F(11,10)  G(-10,-11)

H(-19,-11) 1(17,4)  J(-2,-11)
K(0, 5) L(2,-4) M(=8,12)
N(-1, -2)

13) E(-8,20 F(-14,1)  6(18,15)
H(20,-17) 1(-12,20) J3(17,-19)
K(-9,-14) L(-3,9 M(16, 14)
N(-13, 14)

15) K(-9,-9) J(15, 13) 1(7,7)
H(-2,7) G(-12,-14) F(-8,8)
E(3,-9)  D(8,-15) c(9, -5)
B(-5, 18)

17) E(19,11)  F(5,-4)  6(-9,3)
H(0, —4) 1(-8, 2) J(15,-3)
K(-11,-7) L(15,-20) M(-9,-19)
N(10, -5)

19) A(10,15)  B(0, —4) (16, 16)
D(19, 2) E(-13,-5) F(-5,-12)
G(16,-16) H(8,-18) 1(3, 14)
J(4, -7)

H(17,-11)
G(17,14) F(4,-15) E(8,7)
D(-7,11)  c(-20,10) B(9,-3)

g
) gensvsnabh-wersheel oryg

2) D(-2,6)  E(-20,-7) F(-15,-7)

G(-13,7) H(15-19) 1(12,-2)
J(8,-13)  K(-16,-1) L(10,-18)
M (-8, 17)

4y A(-11,-14) B(-11,2) C(-7,-2)
D(12, 11) E(-7,11) F(-10, 18)
G(-12,3)  H(8,8)  1(-10,-15)

J(-18,-17)
6) E(5, 3) F(-10,2) G(-14,-9)
H(12,10) 1(1,-11) J(11,-17)

K(2,-20) L(-5,1)  M(19, —20)
N(0, -11)

8) A(7,-8)  B(3, 16) c(11, 6)
D(-19,5) E(-20,5) F(-12,5)
G(7,-3) H(-13,-4) 1(-13,6)
J(2, 4)

10) A(13,17) B(-4,-3) (20, -18)

D(13,18) E(9,11)  F(1,2)
G(6,19)  H(-1,20) 1(13,19)
J

(11, 1)

12) K(4,-5)  J3(20,-14) 1(7,-7)
H(20,9)  G(14,-12) F(-16,-1)
E(5, 3) D(-14,1)  ¢(1,-15)
B(16, —10)

14) A(-15,-2) B(-18,-5)  C(-5,19)
D(-19,19) E(-15,-14) F(-4,-17)
G(-3,-8) H(8,-13)  1(-2,17)
J(-9, -16)

16) K(-17,20) J(-13,-14) 1(~15,11)
H(18,9)  G(8,—20)  F(-8,-19)
E(19,10) D(12,1) c(12, -4)
B(-14, 15)

18) A(17,-10) B(-7,9) cC(-16,-8)
D(10,6)  E(17,1) F(9,-15)

G(6, 7) H(20,5) 1(-3,-14)
J(-19,-9

20) B(19,-7) (0, -4) D(4, 5)
E(-2,-6) F(12,-14) G(12,-2)
H(-2,11) 1(-5,-6)  J(8, —20)
K(17, 13)

22) D(15, 16) E(-9,14) F(1,-14)
G(18, -6) H(7, 1) 1(~18, 6)
J(=12,13)  K(-13,5) L(-10,-17)
M(-11, -18)
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23) N(-4,2)  M(-18,-18) L(-18,-16) 24) D(13,11)  E(9, 20) F(-19,3)
K(17,20)  J(-4, 10) 1(~17, 5) G(13,-8)  H(19,-14) 1(10,-15)
H(0,15)  G(9,4) F(0, -19) J(11, -5) K (4, -5) L(-13,9)
E(-11, 13) M(-15, -2)
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